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Let our*gd@?mm be e set o natuwl pumbas

QO Suppese. that Membership th each of Si 'and S» 2 dordaie.
Showr 1hat amembership Eh AYR VYRV lagﬁedcéxb/e.

To shaw 1hat o problem 75 decidable , we nead ¢ give
an algrithm o Solve 7. Here % an algorithm o
determme  membership h Si U Sz

(O decidde)
Glen a natural number vx, Checkwhether % 15 h S
¥ xe s, retwun Ages (X 35 h SV
It X &S, chek whether X 5 1h Sz
I xeS2, retun yes. Otherwie, retwrn No.

(e can decide. whether « 3 S; and ¥ & i S»  bauuse
Wembership h each of St and S & decilable.)




